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. If RESPOND is coded as EMPOTDS and 1.

SENSE is coded as FRODT, then
CLARIFY will be coded as

1. EDTOJME .
ZEJSBMD
ZEJQBKD
ZDKSBKD

Call S

Madhu walks 15 metres towards north,

then she turns left at 90° and walk 30

metres, then turns right at 90° and walks
- 25 metres. How far, she is from the starting
point and in which direction? -

1 | 55 mt., north-_east
50 mt., north-west
60 mt., north

50 mt., west .

o

Five friends A, B, C, D and, E are standing
in a row facing south but not necessarily in
the same order. Only B is between A and E,
C is ‘immediate right to E and, D is
immediate left to A. On the basis of above

information, which of the following

statements is definitely true?

1. Bistothe leftof A

B is to the right of E

A is-second totﬁe left Qf c
. Disthird to the left of E

B WM

afk ' RESPOND et aﬁz w §
EMPOTDS @a1 SENSE %! FRODT faa
S R, a\CLARlFYaﬁaﬁtaﬂgwﬁ

- famr smam

EDTOJME
ZEIJSBMD

1

2 y

3. ZEJQBKD . .«
.-'4 : .

- ZDKSBKD

qgmﬁmﬂﬂaﬂtlsﬁ\aaaﬁ%

-sﬂﬂ?aﬁaﬁaht%"gsaﬂm#\a

worht %, 5o W < SR 90° T W 25
WX wadt §1 o9 9% W weur frg @

fret @ T o e F &2
1. 55 W, W@

2. 50 7., IW-ufEw
3. 60 W,
4.

. 50 Ht., uf¥=Ew

ot fim A, B, C, Dai\iEt:ﬁmﬁmaﬁ_
R @ W T i ¥ @ ¥, Wy

...'Mﬁﬁaﬂmﬁﬁ%IWBﬁA
. #iR E¥ Wen, E % 3% T SR C au, A
"%éﬁmﬁa’nnw%lmm%
SR W, ﬁﬁﬁ‘@ﬂﬁﬁaﬁﬂmﬁﬁ

ﬁﬁaamﬂw%?
. AB W ERBE
. E¥ <8 siRBE

1

2.

3. C% it AFET R
e

Ed ¥ @ik D dew 2



Direction (Questions 4-8) : A, B, C, E, F, G

and H are seven efnployées in an
organisation working in the departments of
Administration, Accounts and Operatlons

- There are at least two employees in each

department. There are three females, one in

" each department. Each of seven employees

earns different amount. The only bearded

employee F works in Administration and his

only other colleague G earns the maximum.
C, the least earner works in Accounts. B and

E are brothers and do not work in the same

department. A, husband of H; works in

. Accounts and earns more than each of F, B

and E. The wife in the couple earns more
than the husband.

Which of the followmg is a group of
females?

1. GCE
2. GEH
3. GCH
4. GHB

In which depzirtment(s) do three people
work?

1. Operations

2. Accounts
- 3. Operations or Accounts .
4. -Data inadequate | _

What will be the position of A from the top
when they are arranged in descending
order of their income?

1. Second
2. Third
3. Fourth
4. Fifth

6‘

P (W i 4 ¥ 8 T w Rw):
A, B, C E F G 3R H aa s/ ©&

TS & WIS, 9@ T8 RyA fawer ®
W FW &l TAF favm § wH Q@ F9 Q
FHaER §1 9 wfead €, wow e d
ofeer 21 WA wHErE ¥ ¥ wEw
ST AW Fur 81 CF WH @A

Al F ? St f6 wwmew fawm 8 @m

T IR IEE T AE wEEH G
Haifus A 21 | ¥ ™ 9 9w C
o9 ®Y % 81 B 3R E <A Wi £ qen
T o W w0 S A R HWT
Tt A AFHR@ R AMF, BARE
¥ W W 4 afus wua 8 o T F
S ® well A Ui @ e FEE 2

. g ¥ =7 @ gfierst w1 T 2
1. GCE
2. GEH
3. GCH.
4, "GHB

aﬁaﬂﬁm(ﬁﬂﬁ)ﬁmmmmﬁ
2

1. ferw

2. W&

3. S Wik o
4, gIN AwEE §

qﬁnﬁm’tm%ﬁz%wﬂmﬁﬂa
frar og, @ watew WM ® A B9 ¥ @

W Em?
1. {g{
C2. TR
3. He

4. Yi=@



In which of the following department does
B work?

1. Operations

2. Accounts

3. Administration
4. Data inadequate

Which of the following statements is
definitely true? '

B earns icss than F and H
FeamsmorcthanBandE
Beams_mbrethanEandC.. -
B earns less than A and H |

oW ON =

Direction (Questions 9-11) : Given an
input, a machine generates pass codes for
the six batches each day as follows:

Input : these icons were taken out from the

Pass Codes -
Batchl : from sea the out taken were
icons these
BatchIl : from icons these were taken
. out the sea

BatchIII : from icons out sea the taken
-~ were these '

Batch IV : from icons out sea these were
taken the

What will be the pass code for the Batch V
on a day, if the input is “four of the
following five form a group™?

a five following form four, group the of
a five following form group the of four
a five following form four of the group

WM

a five following form four group of the

ﬁwﬁ@sﬁaﬁm#mm%ﬁ-
2. wEr

3. WA _

4, YEN AW 2

fre § /@ 1 W wua fifvea 9@ ¥
2 -

i Folk Ha o § B o &

2. B3R Ew ga # F sifus wam ®
3. E3R C#t g ¥ B afus w9 &
4, AR H# g@m § BHY HU T

frder (wer wWw 9 ¥ 11 & fU): @
fd & fEw (input) ¥ fau, & Wi 2%
AT (batches) & Fe wffd f=t o9 =ie
R w= @ ?:

f43w1: these icons were taken out from the
sea. | :

o

Batchl :. from sea the out taken were
icons these

BatchIl : from icons these were taken
out the sea '

Batch III : from icons out sea the taken
were these _ :

Batch IV : from icons out sea these were
taken the i

afg fraw “four of the following five form a
group” &, @ 9 V & fow sw @ uw
IS 1 T ? | -

1. afive following form four group the of

2. afive following form group the of four

3. afive following form four of the group .
4. afive following form four group of the



1.

12.

was ‘back go here people who settle want
to’, what was the pass code for the Batch V
on that day? - .

1

2
- 3.
4

The pass code for the Batch | on a day was 11,

back go 'here people settle who want to
back go here people to want settle who
back go here people settle to want who

cani_mt be determined

‘he so used to sell the surplus items’. What

1 10. If the pass code for the Batch IV on aday 10. afk 39 IV % foa et R T Fe ‘back

go here people who settle want to’ o, @ 34t

i
2
3.
4

A dw vE fag T we W @ 2

. back go here people settle who want to

back go here people to want settle who
back go here people settle to want who

it = foar <1 @

afk 49 1 % fere feddl & 98 Fis ‘he so
used to sell the surplus items’ o1, @ 34 &

was the input on that day? _
o Ll F1 fraw = o1 2 l
1. items surplus the sell to used so he 1. items surplus the sell to used sohe
2. heitems surplus the sell to used so 2. he items surplus the sell to used so
3. soused tosell the surplus items he 3. soused to sell the surplus items he
4. cannot be determined 4, Ffraa = fFa st wwa
What is the total number of triangles and 12, & & T i 4 Fa e fge = gﬂ
total numbers of squares in the given i P a9 '
figure? o '
1. 28 triangles, 10 squares 1. 28 e, 10wt
2. 28 triangles, 8 squares - 2. 28 vy, 8 i
3. 32 triangles, 10 squares 3 32 fage, 10 = -
4. .32 triangles, 8 squares 4 32 ﬁ!'ﬁﬁ.B 'epf



13. A cube whose two adjacent faces are 13.

14.

15.

> W N

' col_oured is cut into 64 identical small

cubes. How many of those small cubes are
not coloured atall? - =

1. 24

2. 32
3. 36
4. 48

If 54/32 = 4, 36/42 = 3, 92/22 = 7 then what

is 28/33 =7
I 5

2. 6
3. 4
4. 9

In a certain code language, ‘po ki top ma’

means ‘Usha is playing cards’; ‘Kop ja ki-
ma’ means ‘Asha is playing tennis’; ki top
sop ho’ means ‘they are playing football’;

and ‘po sur kop’ means ‘cards and tennis’.
 Which word in this language means .
~ “Asha’?

ma
kop

top.

14.

15,

ww T fed A e waE. O g §,
T 64 wEEm B W F wE WA A
B A W e e e
AR AEEE

1. 24
2, 32
3. 36
4. 48

afk 54132 = 4,36/42=3,92/22 =T, @

2833=7

L5
2. 6

3. 4
4 9

afg @ ﬁg e ¥ ‘po ki top ma’
a1 “Usha is playing cards’ ; ‘Kop ja ki
‘ma’ H1 asf “Asha is playing tennis’ 2
ki top sop ho’ 1 37 ‘they are playing
football® 8; 7= ‘po sur kop’ F e
‘cards and tennis’ &1 38 9 ® fH9 =%
#1 i ‘Asha’ ¥ ? |

1. ja

- 2. ma
3. kop

4, top



16. A ship navigating in the Indian Ocean is hit 16. &= weramR ¥ ©F o qEH @ THW

by a sea storm and drifts as follows: ¥ wuw: Frer TR @ M e
40 km North 40 . IR -
28 km north-west . 20 fEht. STR-ufvEg
36 km west 36 fadl. ofvey
52 km south and 29 km south east. 52 faeft, <faror alik 20 fFel. <fror-ofay |
The ship had finally drifted in .............. I W T R YT forfg 9 ........
direction from its original stition. feomr 3’#m _
1. South West L o | 1. <fygur-ufyey
2. South _ 2. Tfyga
3. West - o . 3. ufE|w
4. South East 4

. wfo-gE

17.  Four diagrams marked A, B, C and D are 17. 9 @R fa3 A, B, C 3k D f&a m #
given below. The one that best illustrates - b IR R SO RE CR CR J Ope—ry
the relationship among three given classes:

TS F B WA TR gs Wi Q
et 272 ‘ | |
ufeary, fusws, fafreas

Women, Teachers, Doctors _

A
LA 1 A
2. B 2. B
3. C 3. C
4. D 4. D



18. Identify the missing number in the 18.

following sequence

2,17, 52, , 206

1. 73

2. 85

3. 13

4, 184

19. Select the missing number - 19,
- IIY9 15Y7 - ZSYH
. 40 176 R 2

L 184

2. 210

3. 241

4. 425

'20. Select the missing numbers in the 20.
following sequence '

3,6,24,30,63,72,2,7, 195,210

. 117,123
120, 132
123, 135
135, 144

2 owoN

2 R Mg agEw § faeif wem @

TEHH HIg
2,17,52, 206
1. 13

2. 85

3. 113

4. 184

1. 184

2. 210

3. 241

4. 425

= sgw ¥ faeiifoe ged g

3.6,24,30.63,72,7,?, 195,210

1. 117,123
2. 120,132
3. 123,135
4. 135,144



21.

22,

23.

Find the number that does not belong to  21. it & ¢ wemeli d w1 W @@ W™

 thegroup: - | | e § weabva T ¢ 2

111, 331, 482, 551, 263, 383, 362, 284 -
111, 331, 482, 551, 263, 383, 362, 284

1. 263 S 1. 263
2. 331 2. 331
3. 383 | 3. 383
4. 551 4. 551

‘Which letter replaces the question mark? 22.  gvrEeE FEE o ©IF WORA W RR

yftreenfiua 290 2
6 4 1 4 .
4 8 H T
5 M ? 5
8 10 2 5
‘1. L 1. L
2. N 2. N~
3. P 3. P
4. R 4, R

Certain blank spaces are left in the = 23. 2 fw mg sryeh ¥ i oW B ™

following. sequence. Whi(.:h is the.group of ¥ A R T e € A ™
letters given below, will complete the ' B _
sequence? ' | ST F qU B 82 ._
c_bbawcab_éc_ab_ac - ¢_bba_cab_ac_ab_ac
1. acbcb _ I acbcb
2. bcacb - . 2. beach

3. babec : . . 3. babec
4

: _abebe. . __ « 5= 4. abebe



24. A boat starts with the speed of 1 km per

28,

. 26.

A e N

hour. After every 1 km, the speed of boat
becomes twice. How much will be the
average speed of the boat at the end of
journeyof 2.5 km?

i 2.5
1.5125
-
175
3 25
1.625
. 25
1.50

Using the total number of alphabets in
your solution as a parameter, find the
number that represents G if;,
A-0,B-0,C-2,D-2,E-1,F-2,G
-9 : o

b 2
Zi: 3
3. 4
4. 5

Rs. 1000 is given to A, B and C in.some

ratio. A is wrohgly given double and C is
wrongly given half, which is Rs. 500 and
Rs. 250 respectively. How much is given
to B? '

500

250

750 -
None of above

24.

25.

26.

1
2.
3. 750
B

& T 1 e wfa wa 9 oaw @ wer
v w2, v@E 1 Rl & Ak AW
Ft 9@ g @ S #4125 fE S A
1 T W @ F i =@ F4@ A

SR FviEn & W Rl B wwEw ®
v w0 ¥ e (i) & w9 ¥ wm

F W W G A O T
S A

A-0,B=0,C-2,D-2,E-1,F-2,G—
? .

“w» o W N

1
2
3.
4

A, B 3R C® 1000% frt s ¥
W) &1 A F e ¥ g a9 C B T
J ot R W RN fF R 500w ok
250 ® 1 B# fFd ® fd W2 |

. 500
250

SR § @ wE of 7



27. Given that the total cost of 5 erasers, 7 27. 5 (@, 7 WK qun 9 WS w1 F@ I
sharpeners and 9 pencils is Rs. 100 and the
 total cost of 2 erasers, 6 sharpeners and 10
pencils is Rs. 80. What is the total cost
(in Rs.) of one eraser, one sharpener and
one pencil?

1.

2
3.
4

10
15
20

Data are not sufficient

28. Renu went to the market between 7 am
and 8 am. The angle between the
hour-hand and the minute-hand was 90°.
She returned home between 7 am and 8

am. Then also the angle between the

minute-hand and hour-hand was 90°. At
what time (nearest to second) did Renu
leave and return home?

A
L

& W

0

7h18m35sand7hS5im24s
7h19m24sandTh52m 14s
7h20m42sand7h53m11s
7h21m49sand 7h54m33s

29, Stimulant :Acti?ity 2i7

1.

How N

Symptom : Disease
Food : Hunger
Fertilizer : Grthh
Diagnosis : Treatment

28.

29,

10

® 100 31 2 WR, 6 WER R 10 Ve
N Fw & 80 ¥ T W, T W a0
w ifaw 1 Fa g9 (8. H) Fm?

1. 10

2. 15
3. 20
4. g AW B

{7 am ¥ 8 am & &9 IER | WS &
w2 3R fird #1 gEl & #= 90° F F
Tl 9% G199 7 am '8 am % W9 A i«
A A qm of R ok el F gEl &
o= &1 Fior 90° € W T W W fRg wa
frrelt dun fFe W@ W A 9N dE

(%8 & e WM 9%)?

1. 7aa %18 | 35 Q. a7 ==
T S1 WL 24 /.

2. 7RI FI9 W 24 Q. IR 7 =

_ #52 M 149 ,

3 7 w20 W 42 R 7
F 53 AL 11 |/

4. 7ERF 21 W, 49 /. AR 7 =
FX 54 . 33 9. '

_Bﬁﬂ:ﬁm:?

1. @ T

2. HiSH: 1@

3. s@&iw: 9

4. e fafewm



30. Choose the missing number from among 30. fy= firsi ¥ % WM | & weAr faaifa

2
3.
4

. - the four alternatives : 37 vaq wom B @ 37

3 5 5
10 9 30 3 6 y; | s
4 5 2 o

15 1. 15

20 2. 20

25 3. 25

40 4. 40

31.. From among the four alternatives given 31. 2 f@d M fawedi § @ #17 © dem =

below, which number
question mark?

& » W

‘18
- 23

replaces

the

yraEs fae & wm ® sfeafia e
1 W &2 | -

1



32. From among the four.aitemat_ives given 32, @ W faweu ¥ ¥ fF9 sam @@t

33.

below, which letter replaces in the given
- figure the question mark?

2.
3.
4

< @@ W >

YearE® fae & @R W et fmam

T EY
P |8
G- 11
U 4
o 1
- ? 18
1. A
2. B
3. §
4, 'Y

Choose the correct mirror-image most 33. R AW Al ¥ 3 m.‘source’ %

closely resembles the word source, from
the four given alternatives. :

source

. 200199

2 9021002

3. 910002
ecruos

<du-shifra @ W sfw A
fe@n aren g
source

200129

——
»

5, 9021002
3, 910002

4Vecruos

12



- 34,

35.

36.

In the problem figure a unfolded cuboid is  34. % & T fax ¥ wH TER e | o

given. Choose from the four given

alternatives the box that will be formed

e T # ARk W e g e W
e FER el % 'Y fear W @ SR

A work can be completed by 40 workers 38,

in 40 days. If 5 workers leave every 10
days, in how many days work will be
completed? '

when problem figure is folded.
fomey fasll § | 39 @ wdt w2
X
dlo o) X -
o U 1o X
1 2 3 4
L. 1only 1.
2. land2only 2. ¥Faw 1 sk
3. 1,2and 3 only 3 e 1,2 a3
4. 2and 3 only 4. Fad 2 3R 3

qmmaﬁmwﬁm’fzmeioﬁa’fﬁw
P aram AR RORAF IR S
=fd M O #1909 & o, w0

@ B fra R @

1. 55.66 1. 55.66
2. 56.44 - 2. 56.44
3. 56.66 3. 56.66
4. 58.66 4. 58.66 |
From among the four alternatives given 50 e e m AR fohedi o4 R, aﬁq Ll
below, which figure replaces the question fa yvEEs o & uiwnfa w9
mark ’?’, ' ' ' _ '

- L\ =z ?

R X R

13

X4 X




37..

38.

Six persons A, B, C, D, E and F are sitting
in two rows, three persons are snttmg in
each row '

E is not at the end of any row

D is second to the left of F

¢, the neighbour of E, is sitting diagonally

opposite to D
B is the neighbour of F

Who are sitting in each column?
1. AandD;EandF;andBand C

2. AandF:Dand E;and B and C

3. BandD;AandC;andEandF
4, AandD;BandE;and Fand C

The sum of the incomes of A and B is
more than that of C and D taken together.
The sum of incomes of A and C is the
same as that of B and D taken together.
Moreover, A earns half as much as the
sum of the incomes of B and D. Whose
income is the highest?

:p-ua_m
U 0O w >

37..

14

8% =fF A, B, C, D, E 3k F & el o

A3 ¥ qw w@e R A @9 =fa 8B R

E frelt of uRm & o f T &1

F& ot ok ¥ DgEa

C & fF E %1 weRt §, Dﬁaﬁﬁrvtmﬂ
fawdta ¥a1 1 F %1 9gkht B &1 7F w0
(wiem) 4 *F 43 2 |

1. AsRD;EsR F;amn Bk C
2 Aaﬂ:F;DaﬂtE;wi_Bqﬁtc.
3. B3R D;AsR C;amm EsR F
4. AR D;B3RE; @ FaiR C

C 3k D # i # @ w T W W.
H AT Y A R B ® I w oAm
afiw %) 9k B 3k D # 51 w1 w ™
form 1T A 7F A SR C F o & A >
Tt Bt 1 B 3 D ¥ o & wig @

A F o et v A TR A

fram) 22
1. A

B

B
C
D



39.

40.

: Rtht, Kunal,

A letter number series is given with one or 39,

more terms missing as shown below.
Choose the alternative’ next -in the

sequence. _
A4X,D9U, GI6R, ..............
I. K25P

2. J25P
3. 1250
4. J25C

Study the following information and 40,

answer the question given below it:

Ashish and, Ramesh are
students of a school. Three of them stay
far from the school and one near it. Two
studies in class 1V, one in class V and one
in class VI.. They study Hindi,
Mathematics, Social Sciences and Science.
One is good at all four subjects while
another is weak in all of these. Rohit stay

far from the schoo[ and is good at

mathematics only while Kunal is weak i in
mathematics only and stay close to- the .
school. Neither of these two nor Ashish
studies in class VI. One who is good at all
the .subje'cts study in class V. Name the
boy who is good at all the subjects. '

l. Rohit
Ramesh
Kunal

Ashish

BowoN

15

$/14 NRS/15—Mat—Hindi-2

-l

AR T s T v o e

wﬁﬁﬁnﬁ%ﬁ&m}ﬁaﬁq‘rﬁm
g 93

A4X, DU, GlﬁR ...... e ;
1. K25P

J25P
1250
- J25C

EERURCE Cu i I Ol i EREC I
Y91 F1 IW S _

e, o, aﬁmaﬂtmwﬁama:
om ¥ T ¥ A faoem 9 [ e ww
foarer & F @ $1Q wan IV § el
TwEmVanwh s VIdwed §19
fo=, ifor, Wl foem ol e wed
2 wh o W § e e o

T PR T AR v § w41 A

faemes & R war @ ol v § aremr @
wafF FUE Faw TR § wER ¥ aen
foumer & 9 wa 21 A @ 39 <A B
3 7 anfim wan VI 9 wed &) wF v =

' H*ﬁﬁﬂﬁm%,mm\/ﬁmécm

BT W AW waEd S g fawa 0 ot 2

. ufga
2. ww
3. QU
4. anfer



39.

40.

: Rtht, Kunal,

A letter number series is given with one or  39.

more terms missing as shown below.
Choose the alternative: next -in the

sequence. _
A4X,D9U, GI6R, ..............
I. K25P

2. J25P
3. 1250
4. J25C

Study the following information and 40,

answer the question given below it:

Ashish and, Ramesh are
students of a school. Three of them stay
far from the school and one near it. Two
studies in class 1V, one in class V and one
in class VI.. They study Hindi,
Mathematics, Social Sciences and Science.
One is good at all four subjects while
another is weak in all of these. Rohit stay

‘far from the schoo[ and is good at

mathematics only while Kunal is weak i in
mathematics only and stay close to the .
school. Neither of these two nor Ashish
studies in class VI. One who is good at all
the .subje'cts study in class V. Name the
boy who is good at all the subjects. '

l. Rohit
Ramesh
Kunal

Ashish

BowoN

15

$/14 NRS/15—Mat—Hindi~2

AR T s T v o e

wﬁﬁﬁnﬁ%ﬁ&m}ﬁaﬁq‘rﬁm

g 93
A4X, DU, GlﬁR ...... veren ;
1. K25P

2. J25p

- 3. J250

4..125C

EERURCE CR i I il i EREC
Y97 H1 IW A _

e, o, aﬁmaﬂtmwﬁama:
@ ¥ T ¥ A foeem 9 QW e ww
foarer & F @ $1 2w IV § el
TwEmVanwh e VIdwed §19
fo=, wifor, W foem ol e wed
2 wh o W el e w

T BA T W v § w41 A

faeme & R war & ol v § aremr @
wafF FOE Faw TR § BER ¥ aen
foumer & 9 wa B A @ 39 <A B
3 7 anfir wan VI 9 wed &) wF v =

: H*ﬁﬁﬂﬁm%,mm\/ﬁmécm

BT W AW WAy S g fawa 0 ot 3

t.frféa



41.

42.

Half of the villagers of a certain village
have their own houses. One — fifth of the
villagers cultivate paddy. One — third of
the villagers are literate. Four — fifth of the
villagers are below twenty five. Then,

which one of the following is certainly

true?

I. At least 10 percent villagers who
have their own houses are literate.

2. At least- 25 percent of the villagers
who have their own houses cultivate
paddy. '

3. At least 50 percent of the villagers
who cultivate paddy are below twenty
five.

4. Atleast 13.33 percent I]terate must be
below twenty five

‘A tank is filled by three pipes with each

pipe having uniform flow. The first two
pipes operating simultaneously fill the
tank in the same time during in which the
tank is filled by the third pipe alone. The
second pipe fills the tank 5 hours faster
than the first pipe and 4 hours slower than
the third pipe. The time fequired by the

first pipe to fill the tank is:

1. 6 hours
10 hours
15 hours

30 hours

AP S

41.

42.

fot i § aned ol & v e @R

F TEE 3 R w1 o fewm M

m%mﬁnﬁw@aﬁ%’rﬁm'mm

31 4/5 Tl =i o ® W oy % 8

frafefes § & S W woF fifved w9

¥ T Bm? -

. 9 § %9 10 Sova Aoy e g1
F1 wFA €, A Tl W 2

2. %A ® &A 25 Wavid ol e gg
1 TEM B, a9 4E I R

3. %9 W ®A S0 Wiww U St oue

I E, vl o=l o ] W e &
2 | ;

4. 9 ¥ HU 13.33 wfoed wer Tafem
€Y § Tedg 99 @ H9 g & T

_qa:zaﬁm’raﬁﬂmgmﬁ@r?{aﬁw

mm%luﬁqﬁﬁqﬁq@mum'
¥ fed W st O Uy e W H

mmmaﬁﬂﬁﬁwwm '

%1 TET URY IHT FY Y WY I gor |

5 W2 vget qen dreR gy F gern ¥ 4 w6

ﬁ@wélmmmzﬁﬁuﬁ
o ffaT gua en?

1. 6%

2. 108
3. 15 52
4. 30 w2



coded as 91, then MEET will be coded as:

1. 110
114
118
122

o

44. One watch is 1 minute slow at 1 pm on

Tuesday and 2 minutes fast at 1 am on
Friday When did it show the correct time?

1. 5.00amon Wednesday

45.

TENNIS |%#$@$ &
JTRUE |[@+#*
|PRIME [*=2#%
[SPINE  [#$%?&

. 9.00 am on Wednesday - '

2
3. 5.00 pm on Wednesday
4

. 9.00 pm on Wednesday

Direction (Questions 45-47): A coding

language is used to write English words in
coded form given below:

The codes do not appear in the same order
of the letters in English words. Decode the
language and based on these codes
identify the code for English word given
in each question from the alternatives
provided. '

MINT

1. %=&*
2. =#2%

3. @%=$
4. *@2+

S$/14 NRS/15-Mat—Hindi-3.
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44,

45.

TENNIS |%#S@$ &
TRUE _ |@+#*
PRIME 1*=7#%
SPINE  |#$% 2 &

43. If FEED is coded as 47 and TREE is 43. @ &l Wi § FEED &1 47 @9 TREE

# 91 fom s €1t wls Ww #@
MEET ! feren smem:

1. 110

2. 114.

3. 118

4. 122

w wE HEER & 1 e, 1 fire @8
ot iR ypraR & A 1 = 2 firR e m o
W 99 Y W 9 fra o i A
1. §¥aR & 5.00 am ' '
2. TUER H 9.00 am

3. FUER F 500 pm

4. g¥aR H 9.00 pm

Frdyr (WeR W@ 45 R 47 aE): ISt

7= w1 faE % AU T wE W w
i fn T ¥, A e fr TR 2

o s B owH Fa T § W s
7= # § MR Ru o v A S s
¥ =R faweq #is Ry 1T ¢ 3K FE &
IR wel fasmes g

MINT

1. %=&*

2. =#7%

3. @%=$

4. *@7+



46.

47.

48

aw

.RINSE

=74+ @
N*i#&

C*SH@+

S&H=?

INTEREST

1.

=k O & = *

46. RINSE

1. =?+*@ -'
%*$#&
*$#@+
$&#=?

oW N

47. INTEREST .

Lo =2*%+%&="*

2. 24=2+#%8 2. 2=24#%8

3. +S@+8$=*% 3. +$@+$=*%

4 @i*H@%3%& 4 @#*H@S% &

Direction (Question 48-49) : There are - &wr: (wvw wer 48-49 & 'Faq)

three circles in the following diagram. A
total number of 100 persons were

TR § i ogm A ™ E P 100

surveyed and the number in the diagram wfEEl w1 TH wE few o e o
indicates the number of tourists who fafa= wa ¥ 9o w9 9 e #:3

visited different states. 46 tourists visited
Sikkim and 42 tourists visited Karnataka.

wen < w21 46 R ¥ fafrw, 42
I ¥ wles 1 9wor fwEn

" 20

Rajasthan Sikkim

Kamalaka

How many tourists have visited at least 48. = 3 w9/ F0 QT Fogmer
two states? ' '

L.

2
3.
4

46

. 50

54

. 38

fear?

1. 46
2. 50
3. 54
4. 58

18



49. How many tourists have visited only two 49, fF zj‘e\‘ A FaA Y T F G

states? —. :
1. 46 - 1. 46 -
2. 50 2. 50
3. 54 | | 3. 54
4. 96 4. 58

50. If BREAKTHROUGH is coded 50. =R BREAKTHROUGH ' # et #ig
- as EAOUHRBRGHKT then : |

. - | R T ferar :

- DISTRIBUTION will be coded as W R BBGHK s

@ 3 *ie W § DISTRIBUTION i

foran s
1. STTIBUDIONRI I. STTIBUDIONRI
2. TISTBUONDIRI o 2. TISTBUONDIRI
‘3. STTIBUONRIDI . 3. STTIBUONRIDI
4. RISTTIBUDION | 4

RISTTIBUDION

19



	MAT_001.pdf
	MAT_003.pdf
	MAT_004.pdf
	MAT_005.pdf
	MAT_006.pdf
	MAT_007.pdf
	MAT_008.pdf
	MAT_009.pdf
	MAT_010.pdf
	MAT_011.pdf
	MAT_012.pdf
	MAT_013.pdf
	MAT_014.pdf
	MAT_015.pdf
	MAT_016.pdf
	MAT_017 copy.pdf
	MAT_017.pdf
	MAT_018.pdf
	MAT_019.pdf
	MAT_020.pdf
	MAT_021.pdf

